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Programme — B.Sc.(Ag)-Hons-2022/B.5c.(Ag)-Hons-2023
Course Name — Fundamentals of Agricultural Extension Education
Course Code - CC-BAG278(T)
(Semester Il )

Full Marks : 50 ‘ Time : 2:0 Hours
[The figure in the margin indicates full marks. Candidates are required to give their answers in their own
words as far as practicable.]

Group-A
(Multiple Choice Type Question) 1x20=20
1. Choose the correct alternative from the following :

(i) What is Extension?

a) Two way flow of message. b) 1 way flow of message.

c) Botha and b. d) Multi-way flow of message.
(i) Which is known as district development programme?

a) IRDP. b) CADP.

c) IADP. d) DPAP.
(iii) The role of extension education in India is performed by whom?

a) State Agricultural University. b) Central Agricultural University.

c) Krishi Vigyan Kendra. d) All of these

(iv) What is Motivation?
a) Enhancing the skill of individuals by spring b)

them through the examples of various Initiating a conscious and purposeful action.
success stories.
c) To motivate laggards to get something d)
———— All of the above.
(v) By nature, extension teaching is what?
a) Horizontal. b) Vertical.
c) Vertical - horizontal. d) None of the above.
(vi) What is the main aim of IRDP?
a) Development of individual. b) Development of women.
c) Development of family. d) None of the above.

(vii) When was the National Food Security Mission was started?
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a) October, 2005.
¢) October, 2006.

b) October, 2007.

d) October, 2008.

(viii) Who is considered as the father of method demonstration?

a) F. L. Brayne.
c) ). P. Leagans.
(ix) What is the first stage of adoption?

a) Awareness,
¢) Interest.

(x) Who didn’t give any communication model?

a) Berlo.
c) Aristotle.
(xi) Which is true?

a) Gurgaon project - 1921,
c) COP - 1954,

b) Albert Mayer.
d) Dr. Seeman A. Knapp.

b) Trial,
d) Evaluation,

b) Brayne.
d) Weaver.

b) Etawah Pilot Project = 1948,
d) Marthandam Project ~ 1918.

(xii) What percentage does the early adopters constitute of?

a) 13.5% of total population.
) 10.5% of total population.

(xiii) What is the percentage of total majority?

a) 29.
c) 37.

(xiv) What does Result demonstration includes..?

a) Old technology.
c) Bothaandb.
(xv) What satisfies higher order needs?

a) Self actualization.
c) Bothaandb.

(xvi) Who has more number of KVK under them?

a) Non-government Organization.
c) ICAR institutes.

b) 15.5% of total population.
d) 5.5% of total population.

b) 34.
d) 25.

b) New technology.
d) None of the above.

b) Esteem.
d) None of the above.

b) State agricultural university.
d) Central agricultural institutes.

(xvii) Who started the Sevagram Project and in which year?

a) Mahatma Gandhi, 1949.
c) Mahatma Gandhi, 1933.

b) Rabindranath Tagore, 1942.
d) Rabindranath Tagore, 1932.

(xviii) Which pair is right about, 'The rural development projects and men behind them'?

a) Nilokheri project — Albert Mayer.

o Sriniketan — Rabindranath Tagore.

b) Etawah project — Spencer hatch.
d) Gurgaon project — Spencer hatch in
collaboration with Mahatma Gandhi.

(xix) What is known for the counselling of farmers on economy and self-help?

a) Sevagram project.
c) Gurgaon project.

b) Nilokheri project.

d) Marthandam project.

(xx) Development of sprit, mind and body was a purpose of what!

a) Firka project.
c) Mera gaon mera gauray,

b) Gurgaon project.

d) Etawah project.

Group-B
2.5x

(Short Answer Type Questions) 10=25
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5. Explain the Immunization programme under ICDS, (2.5)
3, What s a rural area? 25)
4. What is development? (2.5)
5. Name the development programmes of post-independence era. (2.5)
6. What is Community? ‘i1
7. Outline the achievements of Panchayati Ra). (2.5)
g. Show the shortcomings and failures of Panchayati Raj? (2.5)
9. Outline the main drawbacks of the CDP? (2.5)
10. Outline the objectives of Swarnjayanti Gram Swarozgar Yojana (5GSY)? (2.5)
11. Asses the objective of Credit - cum - Subsidy scheme for rural housing. (2.5)
OR
Conclude the healthcare benefits under ICDS? (2.5)
Group-C
(Long Answer Type Questions) 5x1=5

12. Discuss the main features of Development of Women and Children in Rural Areas (OWCRA)?  (5)

OR
Elaborate the Funding Pattern of ICDS. ()
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